PRIMITIVES/EXERCICES _

Primitives niveau terminale - 5*"¢ feuille

A= / cos*rsin’xdx
B = / sin’xdx
C = / tan®3xdx
p [ets
cos gb
E= / sm22xcos42x
F= / (tanbt — cotanbt)>dt
G = /3m22x00342xd;c
H = / sin2xcosdxdx
/sm3xsm2xda:

J

cosdxcos3xdx

L=

-
K = [ (2 — sind)*dd
/

(sin’¢ + cosd)*do

Cliquez pour toutes les réponses.
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PRIMITIVES/EXERCICES _

Réponse 5

0 Retour

1 1
A= —50035:1: + ?003795 +C,CeR

B = —cosx + 2005% — écos‘r’a;‘ +C,CeR

C = étan23x + %ln |cos3z| +C,C € R

D= %tan?’ngrC’,C’ cR

E =tan2xz + étan?’Q:c — %cotcha: +C,CeR

F = %(twrfbt + cotan?bt) + %lnsin%t +C,CeR

T sin34x  sin8x

G:E—i— 96 123 +C,CeR
H = 300521’— %00561'4-0,0 e R

I = %sinx— 1—103in5:v+0,0 e R

J = %sz’nw-l—ﬁsin?x—kC,C cR
K:%—Félcosﬁ— SinQe—FC’,CER
L= %+§sm3¢+3—125m4¢+0,06 R
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